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Preface

The circumstances under which this paper was read are edwaithe beginning of the
work. The paper was never published during the lifetime ofMdt was found amongst
his papers after the death of Engels. Among many other cteistecs of Marx, this paper
shows two especially. These are his patient willingness aéethe meaning of his ideas
plain to the humblest student, and the extraordinary cksmrof those ideas. In a partial
sense the present volume is an epitome of the first volume pt&aMore than one of us
have attempted to analyze and simplify that volume, withtaotmuch success perhaps. In
fact, a witty friend and commentator has suggested that ghadw required is an expla-
nation by Marx of our explanations of him. | am often asked twh&he best succession of
books for the student to acquire the fundamental principfe3ocialism. The question is a
difficult one to answer. But, by way of suggestion, one migty, $irst, EngelsSocialism,
Scientific And Utopianthen the present work, the first volume of Capital, and thel&tt’s
Marx. My small part in the preparation of this work has beeadiag the manuscript, mak-
ing a few suggestions as to English forms of expressiondutigithe work up into chapters
and naming the chapters, and revising the proofs for prelsshérest, and by far the most
important part, of the work has been done by her whose nanmesappn the title page. The
present volume has already been translated into German.

Edward Aveling.



1 Preliminary

Page numbers from [ME75].

103:1Citizens

103:2 Before entering into the subject-matter, allow me tkena few preliminary
remarks.

103:3 There reigns now on the Continent a real epidemic ikestrand a general clam-
our for a rise of wages. The question will turn up at our Corgrerou, as the head of the
International Association, ought to have settled coneitdiupon this paramount questior
For my own part, | considered it therefore my duty to entelyfirlto the matter, even at the
peril of putting your patience to a severe test.

103:4 Another preliminary remark | have to make in regarditeén Weston. He has
not only proposed to you, but has publicly defended, in tterést of the working class, as he
thinks, opinions he knows to be most unpopular with the wagldlass. Such an exhibition
of moral courage all of us must highly honour. | hope thatpiteghe unvarnished style of
my paper, at its conclusion he will find me agreeing with whatears to me the just idea
lying at the bottom of his theses, which, however, in the@iggnt form, | cannot but conside!
theoretically false and practically dangerous.

103:5 I shall now at once proceed to the business before us.

2 |. Production and Wages

103:6 Citizen Weston’s argument rested, in fact, upon tvemses:

103:7 firstly, that themount of national productiois afixed thing aconstaniguantity
or magnitude, as the mathematicians would say;

104:1 secondly, that the amount of real wages, that is tocsayages as measured by
the quantity of the commodities they can buy, is a fixed amauobnstant magnitude.

104:2 Now, his first assertion is evidently erroneous. Yé@r year you will find that
the value and mass of production increase, that the pragyatiwers of the national labour
increase, and that the amount of money necessary to ciecthiet increasing production
continuously changes. What is true at the end of the yearfardifferent years compared
with each other, is true for every average day of the year. arheunt or magnitude of
national production changes continuously. It is not a camtdtut a variable magnitude, and
apart from changes in population it must be so, because afdh&nuous change in the
accumulation of capital and the productive powers of labtius perfectly true that if a rise
in the general rate of wages should take place today, ttetwibatever its ulterior effects
might be, would, by itself, not immediately change the antafmproduction. It would, in
the first instance, proceed from the existing state of thifig if before the rise of wages
the national production was variable, and not fixed, it wilhtinue to be variable and not
fixed after the rise of wages.

104:3 But suppose the amount of national production to bsteahinstead of variable.
Even then, what our friend Weston considers a logical caiafuwould still remain a gra-
tuitous assertion. If | have a given number, say eight, tlelaite limits of this number do
not prevent its parts from changing their relative limitspiofits were six and wages two,
wages might increase to six and profits decrease to two, #hthsttotal amount remain
eight. The fixed amount of production would by no means prbediked amount of wages.
How then does our friend Weston prove this fixity? By assgritin

104:4/0 But even conceding him his assertion, it would cti bays, while he presses
it only in one direction. If the amount of wages is a constaagnitude, then it can be nei-
ther increased nor diminished. If then, in enforcing a teraporise of wages, the working
men act foolishly, the capitalists, in enforcing a tempypfail of wages, would act not less
foolishly. Our friend Weston does not deny that, under ¢ertacumstances, the working
mencan enforce a rise of wages, but their amount being naturallydfitxeere must fol-
low a reaction. On the other hand, he knows also that thealegtitcan enforce a fall of
wages, and, indeed, continuously try to enforce it. Acaagdb the principle of the con-
stancy of wages, a reaction ought to follow in this case ned tan in the former. The



working men, therefore, reacting against the attempt dheact of, lowering wages, would
act rightly. They would, therefore, act rightly in enforgia rise of wagesbecause every
reactionagainst the lowering of wages is antionfor raising wages. According to Citizen
Weston'’s own principle of theonstancy of wageshe working men ought, therefore, unde
certain circumstances, to combine and struggle for a riseages.

105:1 If he denies this conclusion, he must give up the prerfincgan which it flows.
He must not say that the amount of wages é®astant quantitybut that, although it cannot
and must notise, it can and mustall, whenever capital pleases to lower it. If the capitali:
pleases to feed you upon potatoes instead of upon meat, andafs instead of upon wheat
you must accept his will as a law of political economy, andsitilto it. If in one country the
rate of wages is higher than in another, in the United Stébegxample, than in England,
you must explain this difference in the rate of wages by adiffice between the will of the
American capitalist and the will of the English capitaligtmethod which would certainly
very much simplify, not only the study of economic phenoméniaof all other phenomena.

105:2 But even then, we might askhy the will of the American capitalist differs
from the will of the English capitalist? And to answer the sfien you must go beyond
the domain ofwill. A person may tell me that God wills one thing in France, anctiaer
thing in England. If | summon him to explain this duality oflivhe might have the brass to
answer me that God wills to have one will in France and ano#filéin England. But our
friend Weston is certainly the last man to make an argumesiticti a complete negation of
all reasoning.

105:3 Thewill of the capitalist is certainly to take as much as possibleatile have
to do is not to talk about hiwill, but to enquire into hipower, thelimits of that powerand
thecharacter of those limits
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105:4 The address Citizen Weston read to us might have beapressed into a nutshell.

105:5/0 All his reasoning amounted to this: If the workingsd forces the capitalist
class to pay five shillings instead of four shillings in thagl of money wages, the capitalist
will return in the shape of commodities four shillings’ wioihstead of five shillings’ worth.
The working class would have to pay five shillings for whatiobe the rise of wages, they
bought with four shillings. But why is this the case? Why dttescapitalist only return four
shillings’ worth for five shillings? Because the amount ofgea is fixed. By why is it fixed
at four shillings’ worth of commaodities? Why not at three two, or any other sum? If the
limit of the amount of wages is settled by an economical ladgependent alike of the will
of the capitalist and the will of the working man, the firstiyiCitizen Weston had to do
was to state that law and prove it. He ought then, moreovérate proved that the amount
of wages actually paid at every given moment always cormesgpexactly to the necessary
amount of wages, and never deviates from it. If, on the ot@dhthe given limit of the
amount of wages is founded on threere will of the capitalist, or the limits of his avarice, it
is an arbitrary limit. There is nothing necessary in it. Itynfee changedby the will of the
capitalist, and may, therefore, be changgdinsthis will.

106:1 Citizen Weston illustrated his theory by telling ybatta bowl contains a certain
quantity of soup, to be eaten by a certain number of persoriaceease in the broadness of
the spoons would produce no increase in the amount of soumudeallow me to find this
illustration rather spoony. It reminded me somewhat of thale employed by Menenius
Agrippa. When the Roman plebeians struck against the Rora#itipns, the patrician
Agrippa told them that the patrician belly fed the plebeia@nmbers of the body politic.
Agrippa failed to show that you feed the members of one manllmgfthe belly of another.
Citizen Weston, on his part, has forgotten that the bowl frelmich the workmen eat is filled
with the whole produce of national labour, and that what enés them fetching more out
of it is neither the narrowness of the bowl nor the scantiésts contents, but only the
smallness of their spoons.

106:2 By what contrivance is the capitalist enabled to refaur shillings’ worth for
five shillings? By raising the price of the commodity he seN®ow, does a rise and more
generally a change in the prices of commodities, do the piiéeommodities themselves,
depend on the mere will of the capitalist? Or are, on the eopticertain circumstances
wanted to give effect to that will? If not, the ups and dowhs incessant fluctuations of
market prices, become an insoluble riddle.



106:3/0 As we suppose that no change whatever has takengitheein the productive
powers of labour, or in the amount of capital and labour eygdo or in the value of the
money wherein the values of products are estimatedytiyta change in the rate of wages
how could thatise of wagesffect theprices of commoditiés Only by affecting the actual
proportion between the demand for, and the supply of theserzmlities.

107:1 Itis perfectly true that, considered as a whole, theking class spends, and mus
spend, its income upomecessariesA general rise in the rate of wages would, therefor
produce a rise in the demand for, and consequently imtiket prices of hecessariebhe
capitalists who produce these necessaries would be comtperfsr the risen wages by the
rising market prices of their commodities. But how with ther capitalists who doot
produce necessaries? And you must not fancy them a small biégypu consider that
two-thirds of the national produce are consumed by one-iftihe population—a member
of the House of Commons stated it recently to be but one-ske\a#rthe population—you
will understand what an immense proportion of the natiomatipce must be produced in
the shape of luxuries, or bexchangedor luxuries, and what an immense amount of tr
necessaries themselves must be wasted upon flunkeys, leatsesnd so forth, a waste we
know from experience to become always much limited with thieg prices of necessaries

107:2 Well, what would be the position of those capitalistovdonot produce nec-
essaries? For thall in the rate of profit consequent upon the general rise of wages, tr
could not compensate themselves bgis& in the price of their commoditiebecause the
demand for those commodities would not have increased. r Tinedme would have de-
creased, and from this decreased income they would haveytmpee for the same amount
of higher-priced necessaries. But this would not be all. Heirtincome had diminished
they would have less to spend upon luxuries, and therefererttutual demand for their re-
spective commodities would diminish. Consequent upondimgnished demand the prices
of their commodities would fall. In these branches of indyghereforethe rate of profit
would fall, not only in simple proportion to the general rise in the @itevages, but in the
compound ratio of the general rise of wages, the rise in tliepof necessaries, and the fa
in the prices of luxuries.

107:3/o0 What would be the consequenceto$ difference in the rates of profior
capitals employed in the different branches of industry?yWhe consequence that gen
erally obtains whenever, from whatever reason, alerage rate of profitomes to differ
in different spheres of production. Capital and labour wido¢ transferred from the less
remunerative to the more remunerative branches; and thieps of transfer would go on
until the supply in the one department of industry would hasen proportionately to the
increased demand, and would have sunk in the other depasgiamerording to the decrease:
demand. This change effected, the general rate of profitdvaghin beequalizedin the
different branches. As the whole derangement originalbsarfrom a mere change in the
proportion of the demand for, and supply of, different condlities, the cause ceasing, thi
effect would cease, and PRICES would return to their formeglland equilibrium. Instead

3 II. Production, Wages, Profits

of being limited to some branches of industiye fall in the rate of proficonsequent upon
the rise of wages would have become general. According tswpposition, there would
have taken place no change in the productive powers of lahouin the aggregate amount
of production, buthat given amount of production would have changed its fokrgreater
part of the produce would exist in the shape of necessaritessar part in the shape of
luxuries, or what comes to the same, a lesser part would beeged for foreign luxuries,
and be consumed in its original form, or, what again comesdosame, a greater part of
the native produce would be exchanged for foreign necesserstead of for luxuries. The
general rise in the rate of wages would, therefore, aftempteary disturbance of market
prices, only result in a general fall of the rate of profit withh any permanent change in the
prices of commodities.

108:1 If  am told that in the previous argument | assume thele/burplus wages to be
spent upon necessaries, | answer that | have made the stipposdst advantageous to the
opinion Citizen Weston. If the surplus wages were spent @pticles formerly not entering
into the consumption of the working men, the real increagbeif purchasing power would
need no proof. Being, however, only derived from an advariceages, that increase of
their purchasing power must exactly correspond to the dseref the purchasing power of
the capitalists. Thaggregate demanfbr commodities would, therefore, notcrease but
the constituent parts of that demand woakdinge The increasing demand on the one side
would be counterbalanced by the decreasing demand on thesitle. Thus the aggregate
demand remaining stationary, no change whatever couldpialoe in the market prices of
commodities.

108:2/o You arrive, therefore, at this dilemma: Either theptus wages are equally
spent upon all articles of consumption—then the expansiatemand on the part of the
working class must be compensated by the contraction of ddimathe part of the capitalist
class—or the surplus wages are only spent upon some artitlese market prices will
temporarily rise. The consequent rise in the rate of profédme, and the consequent fall
in the rate of profit in other branches of industry will proéu change in the distribution
of capital and labour, going on until the supply is broughttaghe increased demand in
the one department of industry, and brought down to the danéd demand in the other
departments of industry. On the one supposition there witlio no change in the prices
of commodities. On the other supposition, after some fluitina of market prices, the
exchangeable values of commodities will subside to the éolevel. On both suppositions
the generalrise in the rate of wages will ultimately resutiothing else but a general fall in
the rate of profit.

109:1 To stir up your powers of imagination Citizen Westoquested you to think
of the difficulties which a general rise of English agricuétiwages from nine shillings to
eighteen shillings would produce. Think, he exclaimedhefimmense rise in the demand
for necessaries, and the consequent fearful rise in thigiegir Now, all of you know that
the average wages of the American agricultural labourenatim more than double that
of the English agricultural labourer, although the prickagricultural produce are lower in



the United States than in the United Kingdom, although threega relations of capital and
labour obtain in the United States the same as in Englandaldmolugh the annual amount
of production is much smaller in the United States than inl&md, Why, then, does our
friend ring this alarm bell? Simply to shift the real queastioefore us. A sudden rise of
wages from nine shillings to eighteen shillings would be @d&n rise to the amount of 10C
percent. Now, we are not at all discussing the question venéfie general rate of wages ir
England could be suddenly increased by 100 percent. We radheng at all to do with the
magnitudeof the rise, which in every practical instance must dependaod be suited to,
given circumstances. We have only to inquire how a genesalin the rate of wages, ever
if restricted to one percent, will act.

109:2 Dismissing friend Weston’s fancy rise of 100 percémttopose calling your
attention to the real rise of wages that took place in GredaiBrfrom 1849 to 1859.

109:3/0 You are all aware of the Ten Hours Bill, or rather Berad-a-half Hours Bill,
introduced since 1848. This was one of the greatest ecombatianges we have witnessec
It was a sudden and compulsory rise of wages, not in some tiazigs, but in the leading
industrial branches by which England sways the marketsaofvttrld. It was a rise of wages
under circumstances singularly unpropitious. Dr. Ure,fésor Senior, and all the othe
official economical mouthpieces of the middle cldgsioved and | must say upon much
stronger grounds than those of our friend Weston, that itldveound the death-knell of
English industry. They proved that it not only amounted tanapde rise of wages, but to a
rise of wages initiated by, and based upon, a diminution@fjtrantity of labour employed.
They asserted that the twelfth hour you wanted to take froenctipitalist was exactly the
only hour from which he derived his profit. They threateneéerdase of accumulation, rise
of prices, loss of markets, stinting of production, congggueaction upon wages, ultimate
ruin. In fact, they declared Maximillian Robespierre’s Ntaxm Laws to be a small affair
compared to it; and they were right in a certain sense. Wélgtwvas the result? A rise in
the money wages of the factory operatives, despite theilingtaf the working day, a great
increase in the number of factory hands employed, a contimall in the prices of their
products, a marvellous development in the productive pswetheir labour, an unheard-of
progressive expansion of the markets for their commoditreManchester, at the meeting
in 1860, of the Society for the Advancement of Science, | fiyssard Mr. Newman confess
that he, Dr. Ure, Senior, and all other official propounddrsamnomical science had beel
wrong, while the instinct of the people had been right. | nentMr. W. Newman, not
Professor Francis Newman, because he occupies an emirséiipor economical science,
as the contributor to, and editor of, Mr. Thomas Tookdistory Of Prices that magnificent
work which traces the history of prices from 1793 to 1856.uf friend Weston'’s fixed idea
of a fixed amount of wages, a fixed amount of production, a fixegtek of the productive
power of labour, a fixed and permanent will of the capitalisiil all his other fixedness anc
finality, were correct, Prof. Senior's woeful forebodingswd have been right, and Rober

1The aristocracy was the upper class of Great Britain, whitecpitalists composed what was known to Marx &
the middle class
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Owen, who, already in 1816, proclaimed a general limitatbthe working day the first
preparatory step to the emancipation of the working clasd, actually, in the teeth of the
general prejudice, inaugurated it, on his own hook, in higocofactory at New Lanark,
would have been wrong.

110:1/0 In the very same period during which the introductié the Ten Hours Bill,
and the rise of wages consequent upon it, occurred, thekeplage in Great Britain, for
reasons which it would be out of place to enumerate heergeneral rise in agricultural
wages

111:1 Although it is not required for my immediate purposeorder not to mislead
you, | shall make some preliminary remarks.

111:2 If a man got two shillings weekly wages, and if his wage® to four shillings,
therate of wagesvould have risen by 100 per cent. This would seem a very magnifi
thing if expressed as a rise in thete of wagesalthough theactual amount of wages$our
shillings weekly, would still remain a wretchedly small, @rsation pittance. You must
not, therefore, allow yourselves to be carried away by tiya Bbunding per cents nate of
wages. You must always ask, What was ehiginal amount?

111:3 Moreover, you will understand, that if there were teenmeceiving each 2s.
per week, five men receiving each 5s., and five men receivisgWéekly, the twenty men
together would receive 100s., or 5 Pounds, weekly. If these say by 20 per cent, upon
the aggregatesum of their weekly wages took place, there would be an advémen 5
Pounds to 6 Pounds. Taking the average, we might say thagetheral rate of wagebad
risen by 25 per cent, although, in fact, the wages of the temimad remained stationary, the
wages of the one lot of five men had risen from 5s. to 6s. ontytha wages of the other lot
of five from 55s. to 70s. One half of the men would not have inapcbat all their position,
one quarter would have improved it in an imperceptible degrad only one quarter would
have bettered it really. Still, reckoning by tlae@erage the total amount of the wages of
those twenty men would have increased by 25 per cent, and as the aggregate capital
that employs them, and the prices of the commaodities theguare, are concerned, it would
be exactly the same as if all of them had equally shared inbrage rise of wages. In the
case of agricultural labour, the standard wages being vifgreht in the different counties
of England and Scotland, the rise affected them very unggual

111:4 Lastly, during the period when that rise of wages tdakecounteracting influ-
ences were at work such as the new taxes consequent upongkiaiRwar, the extensive
demolition of the dwelling-houses of the agricultural labers, and so forth.

111:5/0 Having premissed so much, | proceed to state that fif849 to 1859 there
took place aise of about 40 percerih the average rate of the agricultural wages of Great
Britain. | could give you ample details in proof of my assemtibut for the present purpose
think it sufficient to refer you to the conscientious andicait paper read in 1860 by the late
Mr. John C. Morton at the London Society of Arts on “The Forased in Agriculture.” Mr.
Morton gives the returns, from bills and other authenticudoents, which he had collected
from about one hundred farmers, residing in twelve Scotchthinty-five English counties.



112:1 According to our friend Weston’s opinion, and takegetther with the simulta-
neous rise in the wages of the factory operatives, theretdadtave occurred a tremendou
rise in the prices of agricultural produce during the pedi8d9 to 1859. But what is the fact?
Despite the Russian war, and the consecutive unfavourablests from 1854 to 1856, the
average price of wheat, which is the leading agriculturafipce of England, fell from about
3 Pounds per quarter for the years 1838 to 1848 to about 2 Bdun8hillings per quarter
for the years 1849 to 1859. This constitutes a fall in thegpo€ wheat of more than 16
percent simultaneously with an average rise of agriculiusges of 40 percent. During the
same period, if we compare its end with its beginning, 1858 w849, there was a decreas
of official pauperism from 934,419 to 860,470, the differeheing 73,949; a very small
decrease, | grant, and which in the following years was againbut still a decrease.

112:2 It might be said that, consequent upon the abolitich@fCorn Laws, the import
of foreign corn was more than doubled during the period fr@&#9lto 1859, as comparec
with the period from 1838 to 1848. And what of that? From @itiAVeston’s standpoint
one would have expected that this sudden, immense, anchaonsly increasing demanc
upon foreign markets must have sent up the prices of agui@lproduce there to a frightful
height, the effect of increased demand remaining the samether it comes from without
or from within. What was the fact? Apart from some years dirfgiharvests, during all that
period the ruinous fall in the price of corn formed a standimgme of declamation in France
the Americans were again and again compelled to burn thgitusiproduce; and Russia,
if we are to believe Mr. Urquhart, prompted the Civil War iretbnited States because he
agricultural exports were crippled by the Yankee comptith the markets of Europe.

112:3/oReduced to its abstract forn€itizen Weston’s argument would come to this
Every rise in demand occurs always on the basis of a given ahafyproduction. It can,
therefore,never increase the supply of the articles demanded canonly enhance their
money prices Now the most common observation shows, that an increasadrt will,
in some instances, leave the market prices of commoditiegether unchanged, and will,
in other instances, cause a temporary rise of market pratkesvied by an increased supply
followed by a reduction of the prices to their original levehd in many casdselowtheir
original level. Whether the rise of demand springs from kigpvages, or from any other
cause, does not at all change the conditions of the probleom Eitizen Weston’s stand-
point the general phenomenon was as difficult to explaineptienomenon occurring unde
the exceptional circumstances of a rise of wages. His arguhea, therefore, no peculiar
bearing whatever upon the subject we treat. It only expoebgeperplexity at accounting
for the laws by which an increase of demand produces an iserefasupply, instead of an
ultimate rise of market prices.

4 11l1. Wages and Currency

113:1 On the second day of the debate our friend Weston ddifseold assertions in
new forms. He said: Consequent upon a general rise in monggsyvanore currency will
be wanted to pay the same wages. The currency feied how can you pay with this
fixed currency increased money wages? First the difficutbgaform the fixed amount of
commaodities accruing to the working man despite his in@efsoney wages; now it arises
from the increased money wages, despite the fixed amountrofnoaities. Of course, if
you reject his original dogma, his secondary grievancedigihppear.

113:2 However, | shall show that this currency question hahing at all to do with
the subject before us.

113:3/0 In your country the mechanism of payments is mucherperfected than in
any other country of Europe. Thanks to the extent and coretor of the banking system,
much less currency is wanted to circulate the same amourdloés, and to transact the
same or a greater amount of business. For example, as fargeswase concerned, the
English factory operative pays his wages weekly to the seep&r, who sends them weekly
to the banker, who returns them weekly to the manufacturkeg again pays them away
to his working men, and so forth. By this contrivance the lyearages of an operative,
say of 52 Pounds, may be paid by one single Sovereign turoingd every week in the
same circle. Even in England the mechanism is less perfaatith Scotland, and is not
everywhere equally perfect, and, therefore, we find f.at th some agricultural districts, as
compared to the manufacturing districts, much more cugrewanted to circulate a much
smaller amount of values.

114:1 If you cross the Channel you will find that im®ney wageare much lower than
in England, but that they are circulated in Germany, Italyit&rland, and France byrauch
larger amount of currencyThe same Sovereign will not be so quickly intercepted by the
banker or returned to the industrial capitalist; and, tfeeee instead of one Sovereign cir-
culating 52 Pounds yearly, you want, perhaps, three Sayesao circulate yearly wages to
the amount of 25 Pounds. Thus, by comparing continentaltdesrwith England, you will
see at once that low money wages may require a much largemayrfor their circulation
than high money wages, and that this is, in fact, a merelynieahpoint, quite foreign to
our subject.

114:2/o0 According to the best calculations | know, the yeartome of the working
class of this country may be estimated at 250,000,000 Podrds immense sum is circu-
lated by about three million Pounds. Suppose a rise of wafgiyqer cent to take place.
Then, instead of three millions of currency, four and a halfioms would be wanted. As a
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very considerable part of the working-man’s daily experiséaid out in silver and copper,
that is to say, in mere tokens, whose relative value to gddigrarily fixed by law, like that

of inconvertible money paper, a rise of money wages by fiftygeat would, in the extreme
case, require and additional circulation of Sovereignsteéhe amount of one million. One
million, now dormant, in the shape of bullion or coin, in thadlars of the Bank of England,
or of private bankers would circulate. But even the triflingpense resulting from the ad-
ditional minting or the additional wear and tear of that ioill might be spared, and would
actually be spared, if any friction should arise from the t@frthe additional currency. All

of you know that the currency of this country is divided intotgreat departments. One
sort, supplied by bank-notes of different descriptiongjged in the transactions betwee
dealers and dealers, and the larger payments from constongealers, while another sort
of currency, metallic coin, circulates in the retail traéddthough distinct, these two sorts of
currency intermix with each other. Thus gold coin, to a vengag extent, circulates even ir
larger payments for all the odd sums under 5 Pounds. If tommo#rPound notes, or 3 Pounc
notes, or 2 Pound notes were issued, the gold filling thesengts of circulation would at

once be driven out of them, and flow into those channels winesewould be needed from
the increase of money wages. Thus the additional milliowireq by an advance of wages
by fifty per cent would be supplied without the addition of airegle Sovereign. The same
effect might be produced, without one additional bank-nloyean additional bill circulation,

as was the case in Lancashire for a very considerable time.

115:1/0 If a general rise in the rate of wages, for exampld,08f per cent, as Citizen
Weston supposed it to take place in agricultural wages, dvpubduce a great rise in the
prices of necessaries, and, according to his views, requiglditional amount of currency
not to be procured general fall in wagesnust produce the same effect, on the same scz
in the opposite direction. Well! All of you know that the ys&r858 to 1860 were the mos
prosperous years for the cotton industry, and that petyline year 1860 stands in that
respect unrivalled in the annals of commerce, while at tineeséme all other branches of
industry were most flourishing. The wages of the cotton apermand of all the other work-
ing men connected with their trade stood, in 1860, highem theer before. The American
crisis came, and those aggregate wages were suddenly cetualeout one-fourth of their
former amount. This would have been in the opposite diractisise of 400 per cent. If
wages rise from five to twenty, we say that they rise by 400 pat;df they fall from twenty
to five, we say that they fall by seventy-five per cent; but tir@ant of rise in the one and
the amount of fall in the other case would be the same, naffifédgn shillings. This, then,
was a sudden change in the rate of wages unprecedented, tiredsaime time extending
over a number of operatives which, if we count all the opeestnot only directly engaged
in but indirectly dependent upon the cotton trade, was tabgeone-half than the number
of agricultural labourers. Did the price of wheat fall?rdse from the annual average of
47 shillings 8d per quarter during the three years of 1858318 the annual average of 5¢
shillings 10d per quarter during the three years 1861-1883to the currency, there were
coined in the mint in 1861 8,673,323 Pounds, against 3,928Pbunds in 1860. That is

11

4 Ill. Wages and Currency

to say, there were coined 5,294,440 Pounds more in 1861 thB8G0. It is true the bank-
note circulation was in 1861 less by 1,319,000 Pounds thd®&®. Take this off. There
remains still an overplus of currency for the year 1861, asmared with the prosperity
year, 1860, to the amount of 3,976,130 Pounds, or about /00®ounds; but the bullion
reserve in the Bank of England had simultaneously decreasédjuite to the same, but in
an approximating proportion.

116:1 Compare the year 1862 with 1842. Apart from the immeérnsease in the value
and amount of commodities circulated, in 1862 the capita paregular transactions for
shares, loans, etc. for the railways in England and Walesuated alone to 320,000,000
Pounds, a sum that would have appeared fabulous in 1848.tlstilaggregate amounts in
currency in 1862 and 1842 were pretty nearly equal, and géngou will find a tendency to
a progressive diminution of currency in the face of enornmougreasing value, not only of
commodities, but of monetary transactions generally. Foomfriend Weston’s standpoint
this is an unsolvable riddle.

116:2 Looking somewhat deeper into this matter, he woul@ fievnd that, quite apart
from wages, and supposing them to be fixed, the value and niis commodities to be
circulated, and generally the amount of monetary transastio be settled, vary daily; that
the amount of bank-notes issued varies daily; that the atafyrayments realized without
the intervention of any money, by the instrumentality ofsjitheques, book-credits, clear-
ing houses, varies daily; that, as far as actual metallicecuy is required, the proportion
between the coin in circulation and the coin and bullion seree or sleeping in the cellars
of banks varies daily; that the amount of bullion absorbedHhgynational circulation and
the amount being sent abroad for international circulatamy daily. He would have found
that this dogma of a fixed currency is a monstrous error, ingatile with our everyday
movement. He would have inquired into the laws which enalgiereency to adapt itself to
circumstances so continually changing, instead of turhisgnisconception of the laws of
currency into an argument against a rise of wages.
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5 IV. Supply and Demand

116:3/0 Our friend Weston accepts the Latin proverb theggétitio est mater studiorufhn
that is to say, that repetition is the mother of study, andseqnently he repeated his orig
inal dogma again under the new form, that the contractioruofency, resulting from an
enhancement of wages, would produce a diminution of capital so forth. Having already
dealt with his currency crotchet, | consider it quite usekesenter upon the imaginary con:
sequences he fancies to flow from his imaginary currencyamishshall proceed to at once
reduce hisone and the same dogmiepeated in so many different shapes, to its simple
theoretical form.

117:1 The uncritical way in which he has treated his subjé¢b&come evident from
one single remark. He pleads against a rise of wages or admgiswages as the result of
such arise. Now, | ask him, What are high wages and what argviyes? Why constitute,
for example, five shillings weekly low, and twenty shillingeekly high wages? If five is
low as compared with twenty, twenty is still lower as complangth two hundred. If a man
was to lecture on the thermometer, and commenced by dealgiom high and low degrees,
he would impart no knowledge whatever. He must first tell me tiwe freezing-point is
found out, and how the boiling-point, and how these stangardts are settled by natural
laws, not by the fancy of the sellers or makers of thermonsetéow, in regard to wages anc
profits, Citizen Weston has not only failed to deduce suchdzted points from economical
laws, but he has not even felt the necessity to look after théensatisfied himself with the
acceptance of the popular slang terms of low and high as $imgdtaving a fixed meaning,
although it is self-evident that wages can only be said toigle tr low as compared with a
standard by which to measure their magnitudes.

117:2 He will be unable to tell me why a certain amount of mosayiven for a certain
amount of labour. If he should answer me, “This was settlethkylaw of supply and de-
mand,” | should ask him, in the first instance, by what law $yppd demand are themselve:
regulated. And such an answer would at once put him out oftcdine relations between
the supply and demand of labour undergo perpetual chandeyiémthem the market prices
of labour. If the demand overshoots the supply wages rigagiupply overshoots the de:
mand wages sink, although it might in such circumstancesbessary ttestthe real state
of demand and supply by a strike, for example, or any othehawketBut if you accept sup-
ply and demand as the law regulating wages, it would be adishibs useless to declain
against a rise of wages, because, according to the supremmlaappeal to, a periodical
rise of wages is quite as necessary and legitimate as a petliéall of wages. If you danot
accept supply and demand as the law regulating wages, | egaédat the question, why a
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certain amount of money is given for a certain amount of laBou

118:1 But to consider matters more broadly: You would beggtber mistaken in
fancying that the value of labour or any other commodity wkat is ultimately fixed by
supply and demand. Supply and demand regulate nothing dtethporanfluctuationsof
market prices. They will explain to you why the market priéea@ommodity rises above
or sinks below itsvalue but they can never account for thalueitself. Suppose supply
and demand to equilibrate, or, as the economists call itpterceach other. Why, the very
moment these opposite forces become equal they paralyheodsar, and cease to work in
the one or other direction. At the moment when supply and deneguilibrate each other,
and therefore cease to act, ttmarket priceof a commodity coincides with iteeal value
with the standard price round which its market prices aa@&ll In inquiring into the nature
of that VALUE, we have therefore nothing at all to do with teenporary effects on market
prices of supply and demand. The same holds true of wagesfahd prices of all other
commodities.
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6 V. Wages and Prices

118:2 Reduced to their simplest theoretical expressibppalfriend’s arguments resolve
themselves into this one dogmda:He prices of commodities are determined or regulated
wages’

118:3 I might appeal to practical observation to bear witregginst this antiquated anc
exploded fallacy. | might tell you that the English factonyevatives, miners, shipbuilders
and so forth, whose labour is relatively high-priced, usdéy by the cheapness of thei
produce, all other nations; while the English agricultiabburer, for example, whose labou
is relatively low-priced, is undersold by almost every athation because of the dearnes
of his produce. By comparing article with article in the saconentry, and the commodities
of different countries, | might show, apart from some exi®eyt more apparent than real
that on an average the high-priced labour produces the taegh and low priced labour
produces the high-priced commaodities. This, of course,levaat prove that the high price
of labour in the one, and its low price in the other instancetlae respective causes of thos
diametrically opposed effects, but at all events it wouloMerthat the prices of commodities
are not ruled by the prices of labour. However, it is quiteesfipous for us to employ this
empirical method.

119:1 It might, perhaps, be denied that Citizen Weston hefopuard the dogma: The
prices of commodities are determined or regulated by wadepoint of fact, he has never
formulated it. He said, on the contrary, that profit and résw form constituent parts of the
prices of commodities, because it is out of the prices of coudlities that not only the work-
ing man’s wages, but also the capitalist’s profits and thdltand’s rents must be paid. But
how in his idea are prices formed? First by wages. Then artiaddi percentage is joined
to the price on behalf of the capitalist, and another add#tigpercentage on behalf of the
landlord. Suppose the wages of the labour employed in thdugtmn of a commodity to be
ten. If the rate of profit was 100 per cent, to the wages advhiieecapitalist would add ten,
and if the rate of rent was also 100 per cent upon the wages, Wauld be added ten more
and the aggregate price of the commodity would amount toytHut such a determination
of prices would be simply their determination by wages. Ibesin the above case rose t
twenty, the price of the commodity would rise to sixty, andfedh. Consequently all the
superannuated writers on political economy who propoutitedogma that wages regulati
prices, have tried to prove it by treating profit and resitmere additional percentages upo
wages None of them were, of course, able to reduce the limits ofehmercentages to any
economic law. They seem, on the contrary, to think profitdexkby tradition, custom, the
will of the capitalist, or by some other equally arbitrarydainexplicable method. If they
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assert that they are settled by the competition betweershitatists, they say nothing. That
competition is sure to equalize the different rates of pinfitifferent trades, or reduce them
to one average level, but it can never determine the leadf,igr the general rate of profit.

119:2 What do we mean by saying that the prices of the comieedite determined
by wages? Wages being but a name for the price of labour, wa thed the prices of
commodities are regulated by the price of labour. As “prise#xchangeable value—and in
speaking of value | speak always of exchangeable value—cisaageabl&alue expressed
in moneythe proposition comes to this, that “thialue of commaoditieis determined by the
value of labour,” or that “th@alue of labour is the general measure of value

119:3/o But how, then, is thevélue of labout itself determined? Here we come to a
standstill. Of course, to a standstill if we try reasoningiéally. Yet the propounders of that
doctrine make short work of logical scruples. Take our fi&eston, for example. First
he told us that wages regulate the price of commodities aaidctinsequently when wages
rise prices must rise. Then he turned round to show us thaeafiwages will be no good
because the prices of commaodities had risen, and becauss wage indeed measured by
the prices of the commaodities upon which they are spent. Weusegin by saying that the
value of labour determines the value of commodities, and el wp by saying that the
value of commodities determines the value of labour. Thusneee to and fro in the most
vicious circle, and arrive at no conclusion at all.

120:1 On the whole, it is evident that by making the value of aommodity, say
labour, corn, or any other commodity, the general measuteegulator of value, we only
shift the difficulty, since we determine one value by anagthdrich on its side wants to be
determined.

120:2 The dogma that “wages determine the price of comnesgitexpressed in its
most abstract terms, comes to this, that “value is deteminiyevalue,” and this tautology
means that, in fact, we know nothing at all about value. Atiogghis premise, all reasoning
about the general laws of political economy turns into mesddle. It was, therefore, the
great merit of Ricardo that in his work dhe principles of political economyublished in
1817, he fundamentally destroyed the old popular, and waitrfallacy that “wages deter-
mine prices,” a fallacy which Adam Smith and his French poedsors had spurned in the
really scientific parts of their researches, but which tlegroduced in their more exoterical
and vulgarizing chapters.
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7 VI. Value and Labour

120:3 Citizens, | have now arrived at a point where | mustraupen the real development
of the question. | cannot promise to do this in a very satiefgcway, because to do so |
should be obliged to go over the whole field of political ecaryol can, as the French would
say, but “effleurer la question,” touch upon the main points.

120:4 The first question we have to put is, What isuhkieof a commodity? How is
it determined?

| If one tries to answer this, one immediately runs into a @mittion: value does not
seem to be anything inside a commaodity but only a relatioweeh commodities:

120:5/0 At first sight it would seem that the value of a commod a thing quite
relative, and not to be settled without considering one commoditisindlations to all other
commodities. In fact, in speaking of the value, the valuexchange of a commodity, we
mean the proportional quantities in which it exchanges wafitlother commodities.

| In Capital, Marx points out that this is a contradiction, and then he esdlvo thought
experiments in order to resolve the contradiction. Her¥adhue, Price, and ProfjitMarx
hides this dialectic behind the vague formulation “but theises the question.”

But then arises the question: How are the proportions in vb@ammodities exchange
with each other regulated?

But the next two paragraphs bring the two thought experimant the polygon analogy,
as inCapital:

121:1 We know from experience that these proportions vafipitaly. Taking one
single commodity, wheat, for instance, we shall find that artgr of wheat exchanges in
almost countless variations of proportion with differeatranodities. Yetits value remain-
ing always the sameavhether expressed in silk, gold, or any other commoditgust be
something distinct from, and independent of, thai$ierent rates of exchangeith different
articles. It must be possible to express, in a very diffefemn, these various equations witk
various commodities.

1t Just as inCapital, the first thought experiment leads to the conclusion thahamge-
value is the surface echo of some underlying relationship.

121:2 Besides, if | say a quarter of wheat exchanges withiivx@certain proportion,
or the value of a quarter of wheat is expressed in a certainathud iron, | say that the value
of wheat and its equivalent in iron are equabktime third thingwhich is neither wheat nor
iron, because | suppose them to express the same magnittvde different shapes. Either
of them, the wheat or the iron, must, therefore, indepemyglefithe other, be reducible to
this third thing which is their common measure.
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1t The second thought experiment says that this underlyigiosiship can be reduced to
some immaterial substance inside the commaodities.

121:3 To elucidate this point | shall recur to a very simpl®metrical illustration.

In comparing the areas of triangles of all possible forms aragjnitudes, or comparing
triangles with rectangles, or any other rectilinear figin@y do we proceed? We reduce the
area of any triangle whatever to an expression quite diftéfrem its visible form. Having
found from the nature of the triangle that its area is equbblbthe product of its base by its
height, we can then compare the different values of all sditrsangles, and of all rectilinear
figures whatever, because all of them may be resolved intaaic@aumber of triangles.

121:4 The same mode of procedure must obtain with the valuesromodities. We
must be able to reduce all of them to an expression commot, tanal distinguishing them
only by the proportions in which they contain that identicedasure.

121:5/0 As theexchangeable valued commodities are onlgocial functionof those
things, and have nothing at all to do with thatural qualities, we must first ask, What is
the commorsocial substancef all commodities? It idabour. To produce a commodity a
certain amount of labour must be bestowed upon it, or workeihit. And | say not only
labour, but social labour A man who produces an article for his own immediate use, to
consume it himself, createpeoduct but not acommodity As a self-sustaining producer he
has nothing to do with society. But to produce@mmoditya man must not only produce
an article satisfying somgocialwant, but his labour itself must form part and parcel of the
total sum of labour expended by society. It must be subotditathedivision of labour
within society It is nothing without the other divisions of labour, and tspart is required
to integratethem.

122:1 If we considecommodities as valuesve consider them exclusively under the
single aspect akealized, fixedor, if you like, crystallized social labourln this respect they
candiffer only by representing greater or smaller quantities of labas, for example, a
greater amount of labour may be worked up in a silken hantliefrthan in a brick. But
how does one measugeantities of labou? By thetime the labour lastsin measuring the
labour by the hour, the day, etc. Of course, to apply this omeasll sorts of labour are
reduced to average or simple labour as their unit.

122:2 We arrive, therefore, at this conclusion. A commobt#ga valug because it is
a crystallization of social labour Thegreatnes®f its value, or itsrelative value, depends
upon the greater or less amount of that social substancainedtin it; that is to say, on
the relative mass of labour necessary for its productior rélative values of commaodities
are, therefore, determined by thespective quantities or amounts of labour, worked up,
realized, fixed in thenirhecorrelativequantities of commodities which can be produced in
thesame time of labouareequal Or the value of one commaodity is to the value of another
commaodity as the quantity of labour fixed in the one is to tharitly of labour fixed in the
other.

122:3/0 | suspect that many of you will ask, Does then, inddleere exist such a
vast, or any difference whatever, between determining #hees of commodities bywages
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and determining them by thelative quantities of labounecessary for their production®
You must, however, be aware that ttesvard for labour, andquantityof labour, are quite

disparate things. Suppose, for examplgyal quantities of labouio be fixed in one quarter
of wheat and once ounce of gold. | resort to the example bedauas used by Benjamin
Franklin in his first Essay published in 1721, and entitethodest enquiry into the nature
and necessity of a paper currenayhere he, one of the first, hit upon the true nature

value.

Well. We suppose, then, that one quarter of wheat and oneemfrgold areequal values
or equivalents because they arerystallizations of equal amounts of average lahoof
so many days’ or so many weeks’ labour respectively fixed émth In thus determining
the relative values of gold and corn, do we refer in any waytewter to thewagesof the
agricultural labourer and the miner? Not a bit. We leave itegindeterminatehow their
day’s or their week’s labour was paid, or even whether waglkesur was employed at all.
If it was, wages may have been very unequal. The labourer evtadmur is realized in
the quarter of wheat may receive two bushels only, and theule@s employed in mining
may receive on-half of the ounce of gold. Or, supposing teiges to be equal, they may
deviate in all possible proportions from the values of thmpwdities produced by them.
They may amount to one-fourth, one-fifth, or any other prtipoal part of the one quarter
of corn or the one ounce of gold. Thew#agescan, of course, natxceegdnot bemorethan
the values of the commodities they produced, by they candseitteevery possible degree
Theirwageswill be limited by thevaluesof the products, but thealues of their productwill
not be limited by the wages. And above all, the values, thativel values of corn and gold,
for example, will have been settled without any regard wyextéo the value of the labour
employed, that is to say, twwages To determine the values of commaodities by thktive
quantities of labour fixed in thens, therefore, a thing quite different from the tautoladic
method of determining the values of commodities by the vafuabour, or bywages This
point, however, will be further elucidated in the progressur inquiry.

123:1/0 In calculating the exchangeable value of a commogé must add to the
quantity of labourpreviouslyworked up in the raw material of the commodity, and tr
labour bestowed on the implements, tools, machinery, aildibgs, with which such labour
is assisted. For example, the value of a certain amount tdicgarn is the crystallization
of the quantity of labour added to the cotton during the sipigmprocess, the quantity of
labour previously realized in the cotton itself, the quintif labour realized in the coal,
oil, and other auxiliary substances used, the quantity lmdula fixed in the steam-engine
the spindles, the factory building, and so forth Instrurserftproduction properly so-called,
such as tools, machinery, buildings, serve again and ageiarfger or shorter period during
repeated processes of production. If they were used up at tke the raw material, their
whole value would at once be transferred to the commoditieg &ssist in producing. But
as a spindle, for example, is but gradually used up, an ageralgulation is made, basec
upon the average time it lasts, and its average waste or wwddear during a certain period,
say a day. In this way we calculate how much of the value of piiredée is transferred to the
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yarn daily spin, and how much, therefore, of the total amadfitebour realized in a pound
of yarn, for example, is due to the quantity of labour pregiguealized in the spindle. For
our present purpose it is not necessary to dwell any longen thgs point.

124:1 It might seem that if the value of a commodity is detedi by thequantity
of labour bestowed upon its productiathe lazier a man, or the clumsier a man, the more
valuable his commodity, because the greater the time ofulakeqjuired for finishing the
commodity. This, however, would be a sad mistake. You wibtkect that | used the word
“sociallabour,” and many points are involved in this qualificatidri social” In saying that
the value of a commaodity is determined by tgantity of laboumworked up or crystallized
in it, we mearthe quantity of labour necessatfyr its production in a given state of society,
under certain social average conditions of productiory @igiven social average intensity,
and average skill of the labour employed. When, in Englahd, gower-loom came to
compete with the hand-loom, only half the former time of labwas wanted to convert
a given amount of yarn into a yard of cotton or cloth. The poandiloom weaver now
worked seventeen or eighteen hours daily, instead of the mirthe hours he had worked
before. Still the product of twenty hours of his labour resgnr@ed now only ten social hours
of labour, or ten hours of labour socially necessary for theversion of a certain amount of
yarn into textile stuffs. His product of twenty hours hacgrifore, no more value than his
former product of ten hours.

124:2 If then the quantity of socially necessary labourizedlin commodities regulates
their exchangeable values, every increase in the quaridgpour wanted for the production
of a commodity must augment its value, as every diminutiostriawer it.

124:3/o If the respective quantities of labour necessamnttfe production of the re-
spective commaodities remained constant, their relativeegalso would be constant. But
such is not the case. The quantity of labour necessary foprib@uction of a commodity
changes continuously with the changes in the productivespeef labour, the more produce
is finished in a given time of labour; and the smaller the potige powers of labour, the
less produce is finished in the same time. If, for examplehéprogress of population it
should become necessary to cultivate less fertile soksséme amount of produce would
be only attainable by a greater amount of labour spent, andalue of agricultural produce
would consequently rise. On the other hand, if, with the nnodeeans of production, a sin-
gle spinner converts into yarn, during one working day, maeysand times the amount of
cotton which he could have spun during the same time withghrengng wheel, it is evident
that every single pound of cotton will absorb many thousamed less of spinning labour
than it did before, and consequently, the value added byhsmirto every single pound of
cotton will be a thousand times less than before. The valyauf will sink accordingly.

125:1 Apart from the different natural energies and acqlverking abilities of dif-
ferent peoples, the productive powers of labour must padbti depend:—

125:2 Firstly. Upon thenatural conditions of labour, such as fertility of soil, mines,
and so forth.

125:3 Secondly. Upon the progressive improvement ofsthdal powers of laboyr
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such as are derived from production on a grand scale, caatientof capital and combina-
tion of labour, subdivision of labour, machinery, improvedthods, appliance of chemica
and other natural agencies, shortening of time and spaceclysnof communication and
transport, and every other contrivance by which sciencesgenatural agencies into the se
vice of labour, and by which the social or co-operative cbimneof labour is developed. The
greater the productive powers of labour, the less labouessdwed upon a given amount o
produce; hence the smaller the value of the produce. Thdesntta¢ productive powers of
labour, the more labour is bestowed upon the same amountdiipe; hence the greater it:
value. As a general law we may, therefore, set it down that:—

125:4The values of commodities are directly as the times of lakoyployed in their
production, and are inversely as the productive powers efdbour employed.

125:5 Having till now only spoken ofalue | shall add a few words aboptice, which
is a peculiar from assumed by value.

125:6/0 Price, taken by itself, is nothing but thnetary expression of valudhe
values of all commodities of the country, for example, arpressed in gold prices, while
on the Continent they are mainly expressed in silver pri€s. value of gold or silver, like
that of all other commodities is regulated by the quantityatfour necessary for getting
them. You exchange a certain amount of your national praguctvhich a certain amount
of your national labour is crystallized, for the produce loé tgold and silver producing
countries, in which a certain quantity thfeir labour is crystallized. It is in this way, in fact
by barter, that you learn to express in gold and silver theesbf all commodities, that
is the respective quantities of labour bestowed upon theanking somewhat closer into
themonetary expression of valuer what comes to the same, the conversion of value ir
price, you will find that it is a process by which you give to treduesof all commodities
anindependenandhomogeneous forpor by which you express them as quantities of equ
social labour. So far as it is but the monetary expressionatfes price has been callec
natural priceby Adam Smith, prix necessairéby the French physiocrats.

126:1 What then is the relation betweealueandmarket pricesor betweematural
pricesandmarket price8 You all know that thenarket priceis thesamefor all commodi-
ties of the same kind, however the conditions of productia@y miiffer for the individual
producers. The market price expresses onlyatrerage amount of social labonecessary,
under the average conditions of production, to supply theketavith a certain mass of a
certain article. It is calculated upon the whole lot of a cowodiity of a certain description.

126:2-3 So far thenarket priceof a commodity coincides with itgalue On the other
hand, the oscillations of market prices, rising now ovankisig now under the value or
natural price, depend upon the fluctuations of supply andashelmThe deviations of market
prices from values are continual, but as Adam Smith says:

“The natural price is the central price to which the pricesmhmaodities are continually gravitating.
Different accidents may sometimes keep them suspendeddadgad above it, and sometimes force
them down even somewhat below it. But whatever may be theacdlest which hinder them from
settling in this center of repose and continuance, theyamstantly tending towards it.”
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126:4/o | cannot now sift this matter. It suffices to sayitheupply and demand equili-
brate each other, the market prices of commaodities willegpond with their natural prices,
that is to say with their values, as determined by the resmegtiantities of labour required
for their production. But supply and demamaistconstantly tend to equilibrate each other,
although they do so only by compensating one fluctuation logrer, a rise by a fall, and
vice versa If instead of considering only the daily fluctuations yowabze the movement
of market prices for longer periods, as Mr. Tooke, for examphs done in hislistory of
Prices you will find that the fluctuations of market prices, theivi@ions from values, their
ups and downs, paralyze and compensate each other; so #rafram the effect of mo-
nopolies and some other modifications | must now pass bygaltriptions of commaodities
are, on average, sold at their respectraduesor natural prices. The average periods dur-
ing which the fluctuations of market prices compensate etiwdr are different for different
kinds of commodities, because with one kind it is easier apadupply to demand than with
the other.

127:1 If then, speaking broadly, and embracing somewhatdoperiods, all descrip-
tions of commodities sell at their respective values, itdasense to suppose that profit, not
in individual cases; but that the constant and usual profidéfi@rent trades spring from the
prices of commodities, or selling them at a price over andraltieeirvalue The absurdity
of this notion becomes evident if it is generalized. What anwauld constantly win as a
seller he would constantly lose as a purchaser. It would ado day that there are men who
are buyers without being sellers, or consumers withoutdophoducers. What these peo-
ple pay to the producers, they must first get from them foringthf a man first takes your
money and afterwards returns that money in buying your codities, you will never enrich
yourselves by selling your commodities too dear to that sarae. This sort of transaction
might diminish a loss, but would never help in realizing afjpro

127:2 To explain, therefore, thgeneral nature of profitsyou must start from the the-
orem that, on an average, commodities so#l at their real valugsand thatprofits are
derived from selling them at their valudhat is, in proportion to the quantity of labour real-
ized in them. If you cannot explain profit upon this suppositiyou cannot explain it at all.
This seems paradox and contrary to every-day observatigmalso paradox that the earth
moves round the sun, and that water consists of two highlgrmihable gases. Scientific
truth is always paradox, if judged by every-day experiemdgch catches only the delusive
appearance of things.
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8 VII. Labour Power

127:3/0 Having now, as far as it could be done in such a cuns@myner, analyzed the
nature ofvalug of thevalue of any commodity whateyeve must turn our attention to the
specificvalue of labour And here, again, | must startle you by a seeming paradoxofAll
you feel sure that what they daily sell is their Labour; thhaéerefore, Labour has a Price
and that, the price of a commodity being only the monetaryesgion of its value, there
must certainly exist such a thing as tredue of labour However, there exists no such thing
as thevalue of labouiin the common acceptance of the word. We have seen that theram
of necessary labour crystallized in a commodity constititte value. Now, applying this
notion of value, how could we define, say, the value of a tem$vaorking day? How much
labour is contained in that day? Ten hours’ labour.

To say that the value of a ten hours working day is equal to tandi labour, or the
quantity of labour contained in it, would be a tautologicalamoreover, a nonsensica
expression. Of course, having once found out the true butdnidense of the expressiol
“value of labouf’ we shall be able to interpret this irrational, and seenyinmpossible
application of value, in the same way that, having once made sf the real movement
of the celestial bodies, we shall be able to explain theiraagpt or merely phenomena
movements.

128:1 What the working man sells is not directly labour, but hislabouring powey
the temporary disposal of which he makes over to the caglitalihis is so much the case
that | do not know whether by the English Laws, but certainhysbme Continental Laws,
themaximum timés fixed for which a man is allowed to sell his labouring poweallowed
to do so for any indefinite period whatever, slavery wouldrheediately restored. Such &
sale, if it comprised his lifetime, for example, would makmlat once the lifelong slave of
his employer.

128:2-3 One of the oldest economists and most original phbers of England—
Thomas Hobbes—has already, in his Leviathan, instingtikiéglupon this point overlooked
by all his successors. He says:

“the value or worth of a mais, as in all other things, higrice: that is so much as would be given
for theuse of his powet

128:4 Proceeding from this basis, we shall be able to deterthievalue of labouras
that of all other commodities.

128:5/0 But before doing so, we might ask, how does this gggghenomenon arise,
that we find on the market a set of buyers, possessed of lardhineay, raw material, and
the means of subsistence, all of them, save land in its criade, sheproducts of labour

23

8 VII. Labour Power

and on the other hand, a set of sellers who have nothing texsedpt their labouring power,
their working arms and brains? That the one set buys corljninaorder to make a profit
and enrich themselves, while the other set continuallg selbrder to earn their livelihood?
The inquiry into this question would be an inquiry into wHad economists callgrevious or
original accumulatiorf but which ought to be calledrginial expropriation We should find
that this so-calledriginal accumulatiormeans nothing but a series of historical processes
resulting in adecompositiorf the original unionexisting between the labouring Man and
his Instruments of Labour. Such an inquiry, however, liegdoel the pale of my present
subject. Theseparationbetween the Man of Labour and the Instruments of Labour once
established, such a state of things will maintain itself septoduce itself upon a constantly
increasing scale, until a new and fundamental revolutiathémode of production should
again overturn it, and restore the original union in a newiohisal form.

129:1 What, then, is thealue of labouring power

129:2 Like that of every other commodity, its value is detied by the quantity of
labour necessary to produce it. The labouring power of a nxé&stseonly in his living
individuality. A certain mass of necessaries must be comsliby a man to grow up and
maintain his life. But the man, like the machine, will weart,oand must be replaced by
another man. Beside the mass of necessaries requirddsforvnmaintenance, he wants
another amount of necessaries to bring up a certain quothiloffen that are to replace
him on the labour market and to perpetuate the race of labnufdoreover, to develop
his labouring power, and acquire a given skill,another amofivalues must be spent. For
our purpose it suffices to consider ordyeragelabour, the costs of whose education and
development are vanishing magnitudes. Still | must seizabpis occasion to state that, as
the costs of producing labouring powers of different qyaliffer, so much differ the values
of the labouring powers employed in different trades. Thefor an equality of wages
rests, therefore, upon a mistake, is an insane wish never talfilled. It is an offspring of
that false and superficial radicalism that accepts premiasd tries to evade conclusions.
Upon the basis of the wages system the value of labouringpiewettled like that of every
other commodity; and as different kinds of labouring powaréndifferent values, or require
different quantities of labour for their production, thmustfetch different prices in the
labour market. To clamour faqual or even equitable retributioon the basis of the wages
system is the same as to clamour frwedomon the basis of the slavery system. What
you think just or equitable is out of the question. The quesis: What is necessary and
unavoidable with a given system of production?

130:1 After what has been said, it will be seen that\ihkie of labouring poweis
determined by thealue of the necessariesquired to produce, develop, maintain, and per-
petuate the labouring power.
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9 VIII. Production of Surplus Value

130:2 Now suppose that the average amount of the daily remes®f a labouring man
requiresix hours of average labouor their production. Suppose, moreover, six hours
average labour to be also realized in a quantity of gold efquas. Then 3s. would be the
price, or the monetary expression of thaily valueof that man’slabouring power If he
worked daily six hours he would daily produce a value suffitte buy the average amoun
of his daily necessaries, or to maintain himself as a lalnguman.

130:3 But our man is a wages labourer. He must, thereforehiselabouring power
to a capitalist. If he sells it at 3s. daily, or 18s. weeklydedls it at its value. Suppose hir
to be a spinner. If he works six hours daily he will add to théaoa value of 3s. daily.
This value, daily added by him, would be an exact equivalentife wages, or the price of
his labouring power, received daily. But in that cagesurplus valueor surplus produce
whatever would go to the capitalist. Here, then, we comeeatib.

130:4 In buying the labouring power of the workman, and payis value, the capi-
talist, like every other purchaser, has acquired the riglttonsume or use the commodity
bought. You consume or use the labouring power of a man byngakim work, as you
consume or use a machine by making it run. By buying the dailweekly value of the
labouring power of the workman, the capitalist has, theesfacquired the right to use or
make that labouring power during tidole day or weekThe working day or the working
week has, of course, certain limits, but those we shallafigdts look more closely at.

130:5 For the present | want to turn your attention to onesieepoint.

130:6/0 Thevalueof the labouring power is determined by the quantity of latec-
essary to maintain or reproduce it, but theeof that labouring power is only limited by
the active energies and physical strength of the labouree. daily or weeklywalueof the
labouring power is quite distinct from the daily or weeklyeesise of that power, the same
as the food a horse wants and the time it can carry the horsaneaquite distinct. The
quantity of labour by which thgalueof the workman'’s labouring power is limited forms
by no means a limit to the quantity of labour which his labogrpower is apt to perform.
Take the example of our spinner. We have seen that, to dgitpdeice his labouring power,
he must daily reproduce a value of three shillings, which Hede by working six hours
daily. But this does not disable him from working ten or tweebr more hours a day. But by
paying the daily or weeklyalueof the spinner’s labouring power the capitalist has acaguir
the right of using that labouring power duritige whole day or weekHe will, therefore,
make him work say, dailytwelve hours. Over and abotee six hours required to replace
his wages, or the value of his labouring power, he will, tfeme have to worlksix other
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hours which | shall call hours okurplus labour which surplus labour will realize itself
in a surplus valueand asurplus produce If our spinner, for example, by his daily labour
of six hours, added three shillings’ value to the cotton, laezdorming an exact equivalent
to his wages, he will, in twelve hours, add six shillings’ Woto the cotton, and produce
a proportional surplus of yarn As he has sold his labouring power to the capitalist, the
whole value of produce created by him belongs to the cagiitdlie ownepro tem of his
labouring power. By advancing three shillings, the cajsitatill, therefore, realize a value
of six shillings, because, advancing a value in which sixreati labour are crystallized, he
will receive in return a value in which twelve hours of lab@ue crystallized. By repeating
this same process daily, the capitalist will daily advartzed shillings and daily pocket six
shillings, one half of which will go to pay wages anew, anddtteer half of which will form
surplus valuefor which the capitalist pays no equivalent. It is that of exchange between
capital and labourupon which capitalistic production, or the wages systerfgusded, and
which must constantly result in reproducing the working nagra working man, and the
capitalist as a capitalist.

131:1The rate of surplus valyall other circumstances remaining the same, will de-
pend on the proportion between that part of the working dasessary to reproduce the
value of the labouring power and tearplus timeor surplus laboumperformed for the capi-
talist. It will, therefore, depend on thratio in which the working day is prolonged over and
above that extenby working which the working man would only reproduce th&uesof his
labouring power, or replace his wages.

26



10 IX. Value of Labour

132:1 We must now return to the expressioraltie, or price of labour

132:2 We have seen that, in fact, it is only the value of theulasimg power, measured
by the values of commaodities necessary for its maintenaigesince the workman receives
his wagesafter his labour is performed, and knows, moreover, that what hga#lg gives
to the capitalist is his labour, the value or price of his latiog power necessarily appear.
to him as theprice or value of his labour itself If the price of his labouring power is
three shillings, in which six hours of labour are realizedd & he works twelve hours,
he necessarily considers these three shillings as the gajrce of twelve hours of labour,
although these twelve hours of labour realize themselvasaiue of six shillings. A double
consequence flows from this.

132:3Firstly. The value or price of the labouring powtakes the semblance of the
price or value of labour itselfalthough, strictly speaking, value and price of labour a
senseless terms.

132:4Secondly Although one part only of the workman'’s daily labourpiaid, while
the other part isinpaid and while that unpaid or surplus labour constitutes eyalet fund
out of whichsurplus valueor profit is formed, it seems as if the aggregate labour was pi
labour.

132:5 This false appearance distinguistvages laboufrom otherhistorical forms of
labour. On the basis of the wages system evenutigaidlabour seems to bgaid labour.
With the slave on the contrary, even that part of his labour which is paigdesps to be
unpaid. Of course, in order to work the slave must live, arelfart of his working day goes
to replace the value of his own maintenance. But since ncaraig struck between him and
his master, and no acts of selling and buying are going ondmtwthe two parties, all his
labour seems to be given away for nothing.

132:6 Take, on the other hand, the peasant serf, such as fghtlsay, until yesterday
existed in the whole of East of Europe. This peasant workadexfample, three days for
himself on his own field or the field allotted to him, and thesthisubsequent days he pe!
formed compulsory and gratuitous labour on the estate dbhis Here, then, the paid and
unpaid parts of labour were visibly separated, separatéchinand space; and our Liberals
overflowed with moral indignation at the preposterous notié making a man work for
nothing.

132:7/0 In point of fact, however, whether a man works thragsdof the week for
himself on his own field and three days for nothing on the estéhis lord, or whether he
works in the factory or the workshop six hours daily for hiffisend six for his employer,
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comes to the same, although in the latter case the paid araldupprtions of labour are
inseparably mixed up with each other, and the nature of tr@ennansaction is completely
masked by théntervention of a contracand thepayreceived at the end of the week. The
gratuitous labour appears to be voluntarily given in the iostance, and to be compulsory
in the other. That makes all the difference.

133:1 In using the wordvalue of labouyf’ | shall only use it as a popular slang term
for “value of labouring powet
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11 X. Profit is Made by Selling a
Commodity at its Value

133:2 Suppose an average hour of labour to be realized inua egjual to sixpence, or
twelve average hours of labour to be realized in six shilinuppose, further, the value o
labour to be three shillings or the produce of six hours’ labdf, then, in the raw mate-
rial, machinery, and so forth, used up in a commaodity, tweoty hours of average labour
were realized, its value would amount to twelve shillings.moreover, the workman em-
ployed by the capitalist added twelve hours of labour to ¢hmeans of production, these
twelve hours would be realized in an additional value of $iitliegs. Thetotal value of
the productwould, therefore, amount to thirty-six hours of realizebdar, and be equal to
eighteen shillings. But as the value of labour, or the wagad fo the workman, would be
three shillings only, no equivalent would have been paidigycapitalist for the six hours of
surplus labour worked by the workman, and realized in theesaf the commodity. By sell-
ing this commodity at its value for eighteen shillings, tlaitalist would, therefore, realize
a value of three shilllings, for which had paid no equivalefibese three shillings would
constitute the surplus value or profit pocketed by him. Thatalst would consequently
realize the profit of three shillings, not by selling his cootity at a priceover and above
its value, but by selling iat its real value

133:3/o The value of a commodity is determined by tibtal quantity of labourcon-
tained in it. But part of that quantity of labour is realisadi value, for which an equivalent
has been paid in the form of wages; part of it is realised inlaevior whichno equivalent
has been paid. Part of the labour contained in the commasiitgtid labour; part isunpaid
labour. By selling, therefore, the commodéyits value that is, as the crystallization of the
total quantity of laboubestowed upon it, the capitalist must necessarily sellat@bfit. He
sells not only what has cost him an equivalent, but he sedts\&hat has cost him nothing,
although it has cost his workman labour. The cost of the coditynto the capitalist and its
real cost are different things.

| repeat, therefore, that normal and average profits are imadelling commodities not
above butat their real values
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12 Xl. The Different Parts into which
Surplus Value is Decomposed

134:1 Thesurplus value or that part of the total value of the commodity in which the
surplus labouror unpaid labourof the working man is realized, | cgbirofit. The whole of
that profit is not pocketed by the employing capitalist. Thenopoly of land enables the
landlord to take one part of thaurplus valueunder the name aent, whether the land is
used for agricultural buildings or railways, or for any atpeoductive purpose. On the other
hand, the very fact that the possession ofittstruments of labouenables the employing
capitalist to produce aurplus valugor, what comes to the same,dappropriate to himself
a certain amount of unpaid labouenables the owner of the means of labour, which he
lends wholly or partly to the employing capitalist—enablane word, the money-lending
capitalist to claim for himself under the nameinferestanother part of that surplus value,
so that there remains to the employing capitaistsuchonly what is calledndustrial or
commercial profit

134:2 By what laws this division of the total amount of sugpkalue amongst the
three categories of people is regulated is a question quigégn to our subject. This much,
however, results from what has been stated.

134:3/oRent, interest, and industrial profitre only different names for different parts
of the surplus valueof the commaodity, or thainpaid labour enclosed in,itand they are
equally derived from this source and from this source alofmey are not derived from
land as such or frontapital as such, but land and capital enable their owners to get thei
respective shares out of the surplus value extracted byrtpoging capitalist from the
labourer. For the labourer himself it is a matter of subamtBnimportance whether that
surplus value, the result of his surplus labour, or unpaddua, is altogether pocketed by the
employing capitalist, or whether the latter be obliged tg partions of it, under the name of
rent and interest, away to third parties. Suppose the enmgaapitalist to use only his own
capital, and to be his own landlord, then the whole surpliisesaould go into his pocket.

135:1 It is the employing capitalist who immediately extsafrom the labourer this
surplus value, whatever part of it he may ultimately be ablketep for himself. Upon this
relation, therefore between the employing capitalist &iedtages labourer the whole wages
system and the whole present system of production hingee®éthe citizens who took part
in our debate were, there, wrong in trying to mince mattensl, ta treat this fundamental
relation between the employing capitalist and the workirgnnas a secondary question,
although they were right in stating that, under given cirstances, a rise of prices might
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affect in very unequal degrees the employing capitalist/ahdlord, the moneyed capitalist
and, if you please, the tax-gatherer.

135:2 Another consequence follows from what has been stated

135:3 That part of the value of the commaodity which representy the value of the
raw materials, the machinery, in one word, the value of thamaef production used up,
formsno revenuet all, but replacesnly capital But, apart from this, it is false that the
other part of the value of the commoditshich forms revenyer may be spent in the form
of wages, profits, rent, interest, ¢éenstitutedby the value of wages, the value of rent, th
value of profits, and so forth. We shall, in the first instarttiscard wages, and only trea
industrial profits, interest, and rent. We have just seetthi@surplus valueontained in the
commodity or that part of its value in whichinpaid labouris realized, resolves itself into
different fractions, bearing three different names.

But it would be quite the reverse of the truth to say that ites@é&scomposeaf, orformed
by, theadditionof theindependent values of these three constituents

135:4.0 If one hour of labour realizes itself in a value opgrce, if the working day of
the labourer comprises twelve hours, if half of this timenpaid labour, that surplus laboui
will add to the commodity aurplus valueof three shillings, that is of value for which nc
equivalent has been paid. This surplus value of three sgdlconstitutes thevhole fund
which the employing capitalist may divide, in whatever mdjons, with the landlord and
the money-lender. The value of these three shillings cutesi the limit of the value they
have to divide amongst them. But it is not the employing @isit who adds to the value
of the commodity an arbitrary value for his profit, to whicho#imer value is added for the
landlord, and so forth, so that the addition of these anhiyréixed values would constitute
the total value. You see, therefore, the fallacy of the papobtion, which confounds the
decomposition of a given valirto three different parts, with tHermationof that value by
the addition of threéndependenvalues, thus converting the aggregate value, from whi
rent, profit, and interest are derived, into an arbitrary nitagle.

136:1 If the total profit realized by a capitalist is equal @@Pounds, we call this sum,
considered aabsolutemagnitude, themount of profit But if we calculate the ratio which
those 100 Pounds bear to the capital advanced, we calighitive magnitude, theate of
profit. It is evident that this rate of profit may be expressed in ebtloway.

136:2 Suppose 100 Pounds to be the capil@bnced in wagedf the surplus value cre-
ated is also 100 Pounds—and this would show us that half thikimgpday of the labourer
consists ofunpaid labour—and if we measured this profit by the value of the ehjitl-
vanced in wages, we should say that thee of profitamounted to one hundred percen
because the value advanced would be one hundred and therealimed would be two
hundred.

136:3 If, on the other hand, we should not only considerctpatal advanced in wages
but thetotal capitaladvanced, say, for example, 500 Pounds, of which 400 Powmle-r
sented the value of raw materials, machinery, and so foréhshwould say that theate of
profit amounted only to twenty percent, because the profit of ondreahwould be but the
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fifth part of thetotal capital advanced.

136:4 The first mode of expressing the rate of profit is the only which shows you
the real ratio between paid and unpaid labour, the real degfrtheexploitation(you must
allow me this French word)f labour. The other mode of expression is that in common use,
and is, indeed, appropriate for certain purposes. At athisyét is very useful for concealing
the degree in which the capitalist extracts gratuitousuafrmm the workman.

136:5 In the remarks | have still to make | shall use the worafit for the whole
amount of the surplus value extracted by the capitalistauttany regard to the division
of that surplus value between different parties, and ingu#ie wordsrate of profit | shall
always measure profits by the value of the capital advancedges.
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13 XIll. General Relation of Profits,
Wages, and Prices

137:1 Deduct from the value of a commodity the value repiga¢he value of the raw
materials and other means of production used upon it, thatsay, deduct the value repre
senting thepastlabour contained in it, and the remainder of its value wilalee into the
guantity of labour added by the working méast employed. If that working man works
twelve hours daily, if twelves hours of average labour @aljigie themselves in an amount o
gold equal to six shillings, this additional value of sixIBhgs is theonly value his labour
will have created. This given value, determined by the tirhki® labour, is the only fund
from which both he and the capitalist have to draw their retpe shares or dividends, the
only value to be divided into wages and profits. It is evidéatt this value itself will not
be altered by the variable proportions in which it may beadfd amongst the two parties
There will also be nothing changed if in the place of one wagkinan you put the whole
working population, twelve million working days, for exafapinstead of one.

137:2 Since the capitalist and workman have only to divide limited value, that is,
the value measured by the total labour of the working manpntbee the one gets the les:t
will the other get, andice versa Whenever a quantity is given, one part of it will increas
inversely as the other decreases. If the wages change spndlfitchange in an opposite
direction. If wages fall, profits will rise; and if wages rjggrofits will fall. If the working
man, on our former supposition, gets three shillings, etuahe half of the value he has
created, or if his whole working day consists half of paidf baunpaid labour, theate of
profitwill be 100 percent, because the capitalist would also geethhillings. If the working
man receives only two shillings, or works only one third of tithole day for himself, the
capitalist will get four shillings, and the rate of profit Wile 200 per cent. If the working
man receives four shillings, the capitalist will only reeetwo, and the rate of profit would
sink to 50 percent, but all these variations will not affdat value of the commaodity. A
general rise of wages would, therefore, result in a fall e general rate of profit, but not
affect values.

137:3/o But although the values of commodities, which mitghately regulate their
market prices, are exclusively determined by the total tjties of labour fixed in them,
and not by the division of that quantity into paid and unpaisdur, it by no means follows
that the values of the single commaodities, or lots of comitiesli produced during twelve
hours, for example, will remain constant. Themberor mass of commodities produced ir
a given time of labour, or by a given quantity of labour, degseapon theroductive power
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of the labour employed, and not uponétgentor length. With one degree of the productive
power of spinning labour, for example, a working day of tveehours may produce twelve
pounds of yarn, with a lesser degree of productive power twdypounds. If then twelve
hours’ average labour were realized in the value of sixislgdl in the one case, the twelve
pounds of yarn would cost six shillings, in the other caseitepounds of yarn would also
cost six shillings. One pound of yarn would, therefore, gdgbence in the one case, and
three shillings in the other. The difference of price wowdult from the difference in the
productive powers of labour employed. One hour of labourldbe realized in one pound
of yarn with the greater productive power, while with the #eraproductive power, six
hours of labour would be realized in one pound of yarn. Thegoof a pound of yarn would,
in the one instance, be only sixpence, although wages wiatvedy high and the rate of
profit low; it would be three shillings in the other instanedthough wages were low and
the rate of profit high. This would be so because the price@pttund of yarn is regulated
by thetotal amount of labour worked up in,iand not by theproportional division of that
total amount into paid and unpaid laboufhe fact | have mentioned before that high-price
labour may produce cheap, and low-priced labour may prodeee commodities, loses,
therefore, its paradoxical appearance. It is only the esgioe of the general law that the
value of a commodity is regulated by the quantity of labourked up in it, and the the
quantity of labour worked up in it depends altogether up@nfoductive powers of labour
employed, and will therefore, vary with every variation lire foroductivity of labour.
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14 XIllIl. Main Cases of Attempts at
Raising Wages or Resisting their
Fall

138:1 Let us now seriously consider the main cases in whigteaof wages is attempted
or a reduction of wages resisted.

138:2/01. We have seen that thaalue of the labouring poweior in more popular
parlance, thevalue of labouris determined by the value of necessaries, or the quaritity
labour required to produce them.

If, then, in a given country the value of the daily averageessaries of the labourer
represented six hours of labour expressed in three shillthg labourer would have to work
six hours daily to produce an equivalent for this daily maireince. If the whole working
day was twelve hours, the capitalist would pay him the valulei®labour by paying him
three shillings. Half the working day would be unpaid laband the rate of profit would
amount to 100 percent. But now suppose that, consequentaugearease of productivity,
more labour should be wanted to produce, say, the same arnbagticultural produce,
so that the price of the average daily necessaries sho@dram three to four shillings.
In that case thealue of labour would rise by one third, or 33 1/3 percent. Eight isonf
the working day would be required to produce an equivalentte daily maintenance of
the labourer, according to his old standard of living. Thephis labour would therefore
sink from six hours to four, and the rate of profit from 100 tofcent. But in insisting
upon a rise of wages, the labourer would only insist uporirgetheincreased value of his
labour, like every other seller of a commodity, who, the costs ofdusmmodities having
increased, tries to get its increased value paid. If wagdsadi rise, or not sufficiently rise,
to compensate for the increased values of necessarigs;itlesf labour would sink below
thevalue of labouyand the labourer’s standard of life would deteriorate.

139:1/0 But a change might also take place in an oppositetiire By virtue of the
increased productivity of labour, the same amount of theame=daily necessaries migh
sink from three to two shillings, or only four hours out of twerking day, instead of six,
be wanted to reproduce an equivalent for the value of the da@itessaries. The working
man would now be able to buy with two shillings as many neaéssas he did before with
three shillings Indeed, thealue of labourwould have sunk, but diminished value woult
command the same amount of commodities as before. Thenspnafitld rise from three
to four shillings, and the rate of profit from 100 to 200 petceAlthough the labourer’s
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absolute standard of life would have remained the sameaghitve wages, and therewith

his relative social position, as compared with that of thatedist, would have been lowered.
If the working man should resist that reduction of relativeges, he would only try to get
some share in the increased productive powers of his owmifabod to maintain his former

relative position in the social scale. Thus, after the diooliof the Corn Laws, and in flagrant
violation of the most solemn pledges given during the aatiidaw agitation, the English

factory lords generally reduced wages ten per cent. Theteesie of the workmen was at
first baffled, but, consequent upon circumstances | cannetamter upon, the ten per cent
lost were afterwards regained.

140:12. Thevaluesof necessaries, and consequentiytakie of labour might remain
the same, but a change might occur in tleimey pricesconsequent upon a previous change
in thevalue of money

140:2 By the discovery of more fertile mines and so forth, bmaces of gold might, for
example, cost no more labour to produce than one ounce dideh&fhevalueof gold would
then be depreciated by one half, or fifty per cent. Asuhkiesof all other commodities
would then be expressed in twice their forrmoney pricesso also the same with the
value of labour Twelve hours of labour, formerly expressed in six shilingvould now
be expressed in twelve shillings. If the working man’s wasjesuld remain three shillings,
instead of rising to six shillings, theoney price of his labouwvould only be equal tdhalf
the value of his laboyrand his standard of life would fearfully deteriorate. Thisuld also
happen in a greater or lesser degree if his wages shouldrtisept proportionately to the
fall in the value of gold. In such a case nothing would havenbgitanged, either in the
productive powers of labour, or in supply and demand, or lnes

Nothing could have changed except the monameof those values. To say that in such
a case the workman ought not to insist upon a proportionsgeofiwages, is to say that he
much be content to be paid with names, instead of with thidd/gpast history proves that
whenever such a depreciation of money occurs, the capétalis on the alert to seize this
opportunity for defrauding the workman. A very large schafgbolitical economists assert
that, consequent upon the new discoveries of gold landsetier working of silver mines,
and the cheaper supply of quicksilver, the value of precioetals has again depreciated.
This would explain the general and simultaneous attempttherContinent at a rise of
wages.

140:3/03. We have till now supposed that theorking dayhas given limits. The
working day, however, has, by itself, no constant limitgs the constant tendency of capital
to stretch it to its utmost physically possible length, hessain the same degree surplus
labour, and consequently the profit resulting therefronli,bvéi increased. The more capital
succeeds in prolonging the working day, the greater the atmfuwther peoples’ labour it
will appropriate.

During the seventeenth and even the first two thirds of thiesteanth century a ten hours
working day was the normal working day all over England. Rgrthe anti-Jacobin war,
which was in fact a war waged by the British barons againsBitiish working masses,
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capital celebrated its bacchanalia, and prolonged theingday from ten to twelve, four-
teen, eighteen hours. Malthus, by no means a man whom youwlvwsaspect of a maudlin
sentimentalism declared in a pamphlet, published abous, 14t if this sort of thing was
to go on the life of the nation would be attacked at its veryreeu A few years before
the general introduction of newly-invented machinery, @tir65, a pamphlet appeared ii
England under the titleAn Essay On TradeThe anonymous author, an avowed enemy
the working classes, declaims on the necessity of exparnbdetimits of the working day.
Amongst other means to this end, he propagesking houseswhich, he says, ought to be
“Houses of Terror.” And what is the length of the working heguribes for these “Houses
of Terror"? twelve hoursthe very same time which in 1832 was declared by capitajists
litical economists, and ministers to be not only the exgstint the necessary time of labou
for a child under twelve years.

141:1 By selling his labouring power, and he must do so urtteptesent system, the
working man makes over to the capitalist the consumptiohaif power, but within certain
rational limits. He sells his labouring power in order to ntain it, apart from its natural
wear and tear, but not to destroy it. In selling his labougoger at its daily or weekly value,
it is understood that in one day or one week that labouringgr@hall not be submitted to
two days’ or two weeks’ waste or wear and tear. Take a macharehvit000 Pounds. If itis
used up in ten years it will add to the value of the commoditieghose production it assists
100 Pounds yearly. If it is used up in five years it will add 2@uRds yearly, or the value of
its annual wear and tear is in inverse ratio to the quickneswhich it is consumed. But
this distinguishes the working man from the machine. Maghjmoes not wear out exactly
in the same ratio in which it is used. Man, on the contraryagiedn a greater ratio than
would be visible from the mere numerical addition of work.

142:1 In their attempts at reducing the working day to itsxfer rational dimensions,
or, where they cannot enforce a legal fixation of a normal wayklay, at checking overwork
by a rise of wages, a rise not only in proportion to the surgilne exacted, but in a greatel
proportion, working men fulfill only a duty to themselves atieir race. They only set
limits to the tyrannical usurpations of capital. Time is them of human development. A
man who has no free time to dispose of, whose whole lifetipartdrom the mere physical
interruptions by sleep, meals, and so forth, is absorbeddighbour for the capitalist, is less
than a beast of burden. He is a mere machine for producingdroveealth, broken in body
and brutalized in mind. Yet the whole history of modern intdpshows that capital, if not
checked, will recklessly and ruthlessly work to cast dowa whole working class to this
utmost state of degradation.

142:2 In prolonging the working day the capitalist may payher wagesnd still lower
thevalue of labor if the rise of wages does not correspond to the greater anodleour
extracted, and the quicker decay of the labouring power dawsed. This may be done
in another way. Your middle-class statisticians will tediuy for instance, that the averag:
wages of factory families in Lancashire has risen. Theydbtigat instead of the labour of
the man, the head of the family, his wife and perhaps threewrdhildren are now thrown
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under the Juggernaut wheels of capital, and that the riskeo&ggregate wages does not
correspond to the aggregate surplus labour extracted frerfamily.

142:3/0 Even with given limits of the working day, such asytmmw exist in all
branches of industry subjected to the factory laws, a risgaafes may become necessary,
if only to keep up the old standardilue of labour By increasing thentensityof labour,

a man may be made to expend as much vital force in one hour agihery did in two.
This has, to a certain degree, been effected in the tradeseglunder the Factory Acts, by
the acceleration of machinery, and the greater number dfingmachines which a single
individual has now to superintend. If the increase in thenstty of labour or the mass of
labour spent in an hour keeps some fair proportion to thesdeerin the extent of the work-
ing day, the working man will still be the winner. If this litnis overshot, he loses in one
form what he has gained in another, and ten hours of labourtheaybecome as ruinous
as twelve hours were before. In checking this tendency otalapy struggling for a rise
of wages corresponding to the rising intensity of laboug, Working man only resists the
depreciation of his labour and the deterioration of his race

143:44. All of you know that, from reasons | have not now to explainpitaistic
production moves through certain periodical cycles. It smthrough a state of quiescence,
growing animation, prosperity, overtrade, crisis, angsédion. The market prices of com-
modities, and the market rates of profit, follow these phases sinking below their aver-
ages, now rising above them.

Considering the whole cycle, you will find that one deviatadithe market price is being
compensated by the other, and that, taking the average alytie, the market prices of
commodities are regulated by their values. Well! Duringfithases of sinking market prices
and the phases of crisis and stagnation, the working mat ifimown out of employment
altogether, is sure to have his wages lowered. Not to be u#gdidy he must, even with such
a fall of market prices, debate with the capitalist in whatpmrtional degree a fall of wages
has become necessary. If, during the phases of prospetin wxtra profits are made,
he did not battle for a rise of wages, he would, taking the ayermf one industrial cycle,
not even receive hiaverage wagesor thevalueof his labour. It is the utmost height of
folly to demand, that while his wages are necessarily afibly the adverse phases of the
cycle, he should exclude himself from compensation durirgggrosperous phases of the
cycle. Generally, thealuesof all commodities are only realized by the compensatiomef t
continuously changing market prices, springing from theticmous fluctuations of demand
and supply. On the basis of the present system labour is ocdyramodity like others. It
must, therefore, pass through the same fluctuations to &taverage price corresponding
to its value.

It would be absurd to treat it on the one hand as a commodityt@amvant on the other
hand to exempt it from the laws which regulate the prices ofmmdities. The slave receives
a permanent and fixed amount of maintenance; the wage-labdoes not. He must try to
get a rise of wages in the one instance, if only to compensata fall of wages in the
other. If he resigned himself to accept the will, the dictadéthe capitalist as a permanent
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economical law, he would share in all the miseries of theeslaithout the security of the
slave.

143:2/05. In all the cases | have considered, and they form ninety-oitef a hun-
dred, you have seen that a struggle for a rise of wages folimhysin the track ofprevious
changes, and is the necessary offspring of previous chamffessamount of production, the
productive powers of labour, the value of labour, the valimoney, the extent or the inten-
sity of labour extracted, the fluctuations of market pricependent upon the fluctuation:
of demand and supply, and consistent with the different g@has the industrial cycle; in
one word, as reactions of labour against the previous aofiocapital. By treating the strug-
gle for a rise of wages independently of all these circunt&#anby looking only upon the
change of wages, and overlooking all other changes fromhwthiey emanate, you proceec
from a false premiss in order to arrive at false conclusions.
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144:11. Having shown that the periodical resistance on the part efwtbrking men
against a reduction of wages, and their periodical attemmaptgetting a rise of wages, are
inseparable from the wages system, and dictated by the aetrgflabour being assimilated
to commodities, and therefore subject to the laws, requddtie general movement of prices;
having furthermore, shown that a general rise of wages waddlt in a fall in the general
rate of profit, but not affect the average prices of commesljtor their values, the question
now ultimately arises, how far, in this incessant struggieseen capital and labour, the
latter is likely to prove successful.

144:2 | might answer by a generalization, and say that, dsallitother commaodities,
so with labour, itanarket pricewill, in the long run, adapt itself to itgalue that, therefore,
despite all the ups and downs, and do what he may, the workamgwill, on an average, only
receive the value of his labour, which resolves into the @alfihis labouring power, which
is determined by the value of the necessaries requiredsfanaintenance and reproduction,
which value of necessaries finally is regulated by the gtiaafilabour wanted to produce
them.

144:3/o But there are some peculiar features which distighevalue of the labour-
ing power, or the value of laboufrom the values of all other commodities. The value of
the labouring power is formed by two elements — the one meykijsical, the other his-
torical or social. Itaultimate limitis determined by thehysicalelement, that is to say, to
maintain and reproduce itself, to perpetuate its physixistence, the working class must
receive the necessaries absolutely indispensable foiglighd multiplying. Thevalue of
those indispensable necessaries forms, therefore, theatat limit of thevalue of labour
On the other hand, the length of the working day is also lichiig ultimate, although very
elastic boundaries. Its ultimate limit is given by the plogsiforce of the labouring man. If
the daily exhaustion of his vital forces exceeds a certagreks it cannot be exerted anew,
day by day.

However, as | said, this limit is very elastic. A quick suciea of unhealthy and short-
lived generations will keep the labour market as well siggphs a series of vigorous and
long-lived generations.

145:1 Besides this mere physical element, the value of lailson every country deter-
mined by atraditional standard of life It is not mere physical life, but it is the satisfaction
of certain wants springing from the social conditions in @fhpeople are placed and reared
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up. The English standard of life may be reduced to the Iriahdsrd; the standard of life
of a German peasant to that of a Livonian peasant. The impuqutat which historical tra-
dition and social habitude play in this respect, you mayrideom Mr. Thornton’s work on
over-populationwhere he shows that the average wages in different agrralitfistricts of
England still nowadays differ more or less according to tlogevor less favourable circum-
stances under which the districts have emerged from the staerfdom.

145:2 This historical or social element, entering into thdue of labour, may be ex-
panded, or contracted, or altogether extinguished, sonhthing remains but thphysical
limit. During the time of the anti-Jacobin war, undertaken, asrtberrigible tax eater and
sinecurist, old George Rose, used to say, to save the cantfioour holy religion from the
inroads of the French infidels, the honest English farmersesderly handled in a former
chapter of ours, depressed the wages of the agriculturautabs even beneath thattere
physical minimumbut made up by Poor Laws the remainder necessary for thécalhper-
petuation of the race. This was a glorious way to convert thgas labourer into a slave,
and Shakespeare’s proud yeoman into a pauper.

145:3 By comparing the standard wages or values of laboufferent countries, and
by comparing them in different historical epochs of the samentry, you will find that the
value of labouritself is not a fixed but a variable magnitude, even suppotfiegzalues of
all other commodities to remain constant.

145:4 A similar comparison would prove that not only tharket rateof profit change,
but itsaveragerates.

145:5/o0 But as tqrofits there exists no law which determines theimimum We
cannot say what is the ultimate limit of their decrease. A wannot we fix that limit?
Because, although we can fix threnimumof wages, we cannot fix theinaximum

We can only say that, the limits of the working day being givitre maximum of profit
corresponds to thphysical minimum of wagesand that wages being given, theaximum
of profit corresponds to such a prolongation of the working day as rigpatible with the
physical forces of the labourer. The maximum of profit is ¢fiere limited by the physical
minimum of wages and the physical maximum of the working diag.evident that between
the two limits of themaximum rate of profiatnd immense scale of variations is possible. Tl
fixation of its actual degree is only settled by the contiraistruggle between capital anc
labour, the capitalist constantly tending to reduce wageheir physical minimum, and to
extend the working day to its physical maximum, while the kilog man constantly presses
in the opposite direction.

146:1 The matter resolves itself into a question of the retspepowers of the combat-
ants.

146:22. As to thelimitation of the working dayn England, as in all other countries
it has never been settled exceptlegislative interferencewithout the working men’s con-
tinuous pressure from without that interference would ndaye taken place. But at all
events, the result was not to be attained by private settiebetween the working men anc
the capitalists. This very necessity @éneral political actionaffords the proof that in its
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merely economical action capital is the stronger side.

146:3 As to thdimits of thevalue of labourits actual settlement always depends upon
supply and demand, | mean the demand for labour on the paapitat, and the supply of
labour by the working men. In colonial countries the law gbgly and demand favours the
working man. Hence the relatively high standard of wagekérinited States. Capital may
there try its utmost. It cannot prevent the labour marketflbeing continuously emptied by
the continuous conversion of wages labourers into indepeindelf-sustaining peasants.
The position of a wages labourer is for a very large part of Ahgerican people but a
probational state, which they are sure to leave within a éoray shorter term. To mend
this colonial state of things the paternal British Governtaecepted for some time what is
called the modern colonization theory, which consists ittipg an artificial high price upon
colonial land, in order to prevent the too quick conversibthe wages labourer into the
independent peasant.

147:1 But let us now come to old civilized countries, in whadpital domineers over
the whole process of production. Take, for example, theinséngland of agricultural
wages from 1849 to 1859. What was its consequence? The faooeld not, as our friend
Weston would have advised them, raise the value of wheatwesr its market prices. They
had, on the contrary, to submit to their fall. But during theteven years they introduced
machinery of all sorts, adopted more scientific methodsyexead part of arable land into
pasture, increased the size of farms, and with this the sifabeoduction, and by these
and other processes diminishing the demand for labour bgasing its productive power,
made the agricultural population again relatively redumiddhis is the general method in
which a reaction, quicker or slower, of capital against a n§ wages takes place in old,
settled countries. Ricardo has justly remarked that machiis in constant competition
with labour, and can often be only introduced when the pridatwour has reached a certain
height, but the appliance of machinery is but one of the maathods for increasing the
productive powers of labour. The very same developmenthvhiakes common labour
relatively redundant simplifies, on the other hand, skilsgbur, and thus depreciates it.

147:2 The same law obtains in another form. With the devetapraf the productive
powers of labour the accumulation of capital will be accatied, even despite a relatively
high rate of wages. Hence, one might infer, as Adam Smithhase days modern industry
was still in its infancy, did infer, that the acceleratedwaoailation of capital must turn the
balance in favour of the working man, by securing a growingyaed for his labour. From
this same standpoint many contemporary writers have wexddbat English capital having
grown in that last twenty years so much quicker than Englispuation, wages should
not have been more enhanced. But simultaneously with thgrese of accumulation there
takes place @rogressive change in the composition of capif@hat part of the aggregate
capital which consists of fixed capital, machinery, raw mate, means of production in all
possible forms, progressively increases as compared hétlother part of capital, which
is laid out in wages or in the purchase of labour. This law hesnbstated in a more or
less accurate manner by Mr. Barton, Ricardo, SismondigBsofr Richard Jones, Professor
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Ramsey, Cherbuilliez, and others.

148:1 If the proportion of these two elements of capital wagioally one to one, it
will, in the progress of industry, become five to one, and sthfdf of a total capital of 600,
300 is laid out in instruments, raw materials, and so fontigl, 300 in wages, the total capita
wants only to be doubled to create a demand for 600 workingimstead of for 300. But
if of a capital of 600, 500 is laid out in machinery, materjaad so forth and 100 only in
wages, the same capital must increase from 600 to 3,600 ér trdreate a demand for 60(
workmen instead of 300. In the progress of industry the dehfi@niabour keeps, therefore,
no pace with the accumulation of capital. It will still ine®e, but increase in a constant!
diminishing ratio as compared with the increase of capital.

148:2 These few hints will suffice to show that the very depeient of modern industry
must progressively turn the scale in favour of the capitaliginst the working man, and tha
consequently the general tendency of capitalistic pradndés not to raise, but to sink the
average standard of wages, or to pushvifiele of labourmore or less to itsninimum limit
Such being the tendency tifingsin this system, is this saying that the working class oug
to renounce their resistance against the encroachmerapitdlc and abandon their attempt
at making the best of the occasional chances for their teanp@anprovement? If they did,
they would be degraded to one level mass of broken wretctssplvation. | think | have
shown that their struggles for the standard of wages ardémnts inseparable from the whole
wages system, that in 99 cases out of 100 their efforts ahgaigages are only efforts at
maintaining the given value of labour, and that the necesdidebating their price with
the capitalist is inherent to their condition of having tdl #iemselves as commodities. By
cowardly giving way in their everyday conflict with capitithey would certainly disqualify
themselves for the initiating of any larger movement.

148:3/0 At the same time, and quite apart form the generaltade involved in the
wages system, the working class ought not to exaggeratenasttives the ultimate working
of these everyday struggles. They ought not to forget tregt &ine fighting with effects, but
not with the causes of those effects; that they are retatdmgownward movement, but not
changing its direction; that they are applying palliativest curing the malady. They ought
therefore, not to be exclusively absorbed in these unalstedguerilla fights incessantly
springing up from the never ceasing encroachments of dapitehanges of the market.
They ought to understand that, with all the miseries it ingsagpon them, the present systel
simultaneously engenders tigaterial conditionsand thesocial formsnecessary for an
economical reconstruction of society. Instead of¢baservativanotto, “A fair day’s wage
for a fair day’s work! they ought to inscribe on their banner trevolutionarywatchword,
“Abolition of the wages systei!

149:1 After this very long and, | fear, tedious expositiomjeh | was obliged to enter
into to do some justice to the subject matter, | shall coreliog proposing the following
resolutions:

149:2Firstly. A general rise in the rate of wages would result in a fall of gemeral
rate of profit, but, broadly speaking, not affect the pricesaammodities.
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149:3SecondlyThe general tendency of capitalist production is not toeraisit to sink
the average standard of wages.

149:4Thirdly. Trades Unions work well as centers of resistance againgrhmach-
ments of capital. They fail partially from an injudiciousausf their power. The fail generally
from limiting themselves to a guerilla war against the effaaf the existing system, instead
of simultaneously trying to change it, instead of using tloeganized forces as a lever for
the final emancipation of the working class that is to say ttimate abolition of the wages
system.
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Notes for the Report on Value, Price
and Profit

International Workingmen'’s Association 1865

Source: MECW, Volume 20, p. 338;

Written: by Karl Marx in June 1865;

First published: in Russian, inGeneralny Sovet Pervogo Internatsionala. 1864-18€
1961.

These notes were made by Marx in his Notebook for the repatelieered in the Central
Council on June 20 and 27, 1865. They are a version of the dasbpthe report, the basic
conclusions of which were formulated as resolutions pregdds the Council. On the final
text of the concluding part of the report.

This document was published in English for the first tim@re General Council of the
First International 1864-1866, Moscow, 1962.

338:11) A general rise in the rate of wages will, broadly speakingdpice a general
fall in the rate of profits, leaving the values of commoditiesitered.

338:22) Under very exceptional circumstances, only a general fiseages could be
realised. If obtained, it could only [be] lost under very egtional circumstances. The
general tendency of production, upon its present basistisonraise, but to lower wages.
Even if a general rise in the rate of wages should obtain fgrlanger period, it would
not abolish but only mitigate the slavery of the wages’ laleouthat is, of the mass of the
people.

338:33) Trades’ Unions work well as far as they counteract, if evenperarily, the
tendency to a fall in the general rate of wages, and as faregddind to shorten and regulat:
the time of labour, in other words, the extent of the workitay.dThey work well as far as
they are a means of organising the working class as a classy fai accidentally, by an
injudicious use of their power, and they fail generally bgegting the present relations o
capital and labour as permanent instead of working for tiedalition.

Question 1 What is the class content of Weston’s dogma that prices aterrdaed by
wages?
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